Tanz der Ritter

Sergey Prokofiew

Fagott 1







Fagott 1

O

76 | Allegro pesante J =100

Tanz der Ritter

sKJMPHONlc

Sergey Prokofiew

RS O s X X —
Z— N5 ¢ < < <
71 — 78
9 2. O
— 2 — & 2 2 —
o) # \ \ 2P =~
S — ] { e | —— e i '
: £ P
| ' ;
21 /'\ 5 o ——
e & = = o » s 1 L
| YO, | / I ZP=Y N N v | 1
hdl OOFZ4 | M~ P ] p ] - - 1 D b
y 4 T 1 PN PN h 1V
! € < vV
79 >
% 4 s &
r YO N N N N N N * D
S — [ —— o e e e e e e =
b1 \ ¢ h N ¢ N ¢ N ¢ ¢ ) ¢ s =i
® = = :
. o L
f . . L J— Vi
80 —
37 Q- O
. A/\(‘ O'/\() _ —_— ,b/_\b\ = ‘J 2 )
'l: ﬁ o \' \' \' ~_
VA . < ¢ <
_‘_l
> f
82
pu 81 Andante appenarit.............. /—\ —~ ,\
1 9 1 Kl. 1 ) ; é. ~ g —
B = b — = b ,‘V: | dm_
VA 2N L L — o —‘E_
— = :‘Jv' L - - -
poco rit... 83 | Tempo I (Allegro pesante)
62
| 2 2 2 _
Al L —_— N\ LN
. 7 e—————— | —— T — . y 2 ,' ? 3
A— I 3 i A i €
13} L I ]
p
—
70 ﬁ@
s r & = 4 r F r 1
| ' | T | T
cresc mp  cresc. mf
84 Poco pia tranquillo
75 /_\_' > -
2 . m 5 > o o . S
A ~ Pod / \ P24
7 —— : % ¢ [ e
L <
i 7r°




85
87 S

86

Fagott 1

12

87

14

[ B e—

88
s | AR Allegro pesante (Tempo I) -
121 1 1 > :ﬁ
G T =
= hd - . . . - I . - - -
gy T mp »
T.-Sax. 8ba
89
127 -
ey # — I N N N N N N N N -
R Amian £ o P P I P 3 I 3 — P
! e e e o e e o e e
| = o (4 e
mp J
—_—
133 _ &- reY = > >
< N — — 2 oo # r o o o i
e Ol 4 —— - v 3
4 ‘A 1 ‘A




